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2L A 55.1 BERE 54.8 1,296 1,134 864 15
IZACA 23.2 £ % 20.3 3,456 3,348 3,240 10 A L
ES) 0.7 5 & 0.3 - 2,376 - 0] A S
ZIES5 N 0.2 - 2,430 - 4 LL
fzIFDC 0.2 BERE 0.2 — 86 — 1 5
[E<ELY 31.1 ERE 21.6 1,944 1,728 1,404 15[ A 6
HTE 2.3 BRE 0.9 1,944 1,404 1,080 4f A M
ZEDH 7.1 2 45 1,620 — 1,404 4 A L
FrRY 125.1 ERE 110.3 1,296 — 864 0] A 8
FrRy =0 14.9 — 756 - 10 B 8
IE5NAZES 44 2 [ 2.0 2,592 2,592 1,944 6] A L
hE 12.0 BRE 6.0 1512 1,188 1,080 3l A LL
Ch¥E 2.0 i B 1.2 3,240 3,240 2,268 3 M
_hE BRE 0.4 540 356 356 05 A S
125 3.9 ElG 2.2 3,780 2,160 2,160 5] vay
R 0.9 2 0.6 - 3,240 — 0] A L
FTRINSHR 1.4 E 15 0.1 - 216 — 0.1 A L
HhI757— 0.2 EEES 0.2 - 2,700 - 5] A 6
Joyal)— 13.0 K B 35 3,456 — 3,240 6] A L
LARR 52.0 E & 40.3 1,620 1,188 1,134 0] A 12
FoTYA 1.6 BRE 1.1 2,700 1,944 1,404 4f A L
5l 21.3 BRE 16.6 1,944 1,296 1,188 5/ A L
=p5Y ElG 4.1 2,052 - 1,836 5] A M
ANESSES) 145 =P 12.2 2,376 — 1,944 10l vay 6
ANESSES) BRE 15 3,780 — 1,836 0] A 5
Y 6.8 EES 5.6 3,447 2,722 2,495 8
HY BRE 0.9 1,944 1,458 1,458 4l A LL
k< 23.3 BRE 17.1 1512 1,080 1,080 4f A 24
k< EES 6.0 216 — 130 05| A 4
I=kTh 9.3 BRE 9.0 151 97 86 02 A M
Nt x4 B A 0.4 2,376 - 1,620 3] vay
E—<> 225 BERE 21.3 6,156 5,184 4536 7.8 A M
E515CL 0.5 E X 0.3 3,110 — 1,274 4l A L
T35 0.5 BRE 0.5 302 302 216 0.3
[2H5Y 3.6 BRE 3.2 2,592 1,620 1,620 3l A L
SPVAITFA 1.1 BRE 1.1 2,376 1,944 1,728 2l A
SPZAES 0.2 2 [ 0.1 — 648 — 2
E—X
ToEDH 0.1 = B - 1,296 — 4 A M
MrAL& 5.3 E X 35 2,430 2,160 1,998 5 S
[ES AT 32.1 BRE 25.2 2,268 - 2,160 0] A L
[ECTRYNS BRE 2,376 2,160 2,160 0] A LL
[ECTRYNS BRE 2,160 1,890 1,296 0] A L
[ECTRYNS BRE 2,052 1,944 1,296 0] A LL
IEhi s E 15 6.6 - 1,264 - 20
&L 15 BRE 15 2,376 2376 1,080 5
HHE 6.0 5 # 6.0 4536 — 4,320 0] A LL
F-Eh¥ 34.7 JeiEE 0.2 — 2592 - 10 L
f=FEh&E B 33.8 1,836 1,620 1512 0] A L
IZAIZK 15 ol 1.4 540 — 486 1 4L
5oE&LD 2.6 BRE 2.6 5,940 5,400 4,320 10] vay M
ELLV=T 2.2 BERE 0.1 — 108 - 01| M L
HELLV=IT =l 1.4 130 130 97 0.1 A M
ZDEET 3.8 E I 1.9 43 41 35 0.1 A
LHL 3.3 2 [ 2.7 103 86 86 0.2
ESES T 539.1
B=
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HEDHMNA 1.8 BRE 1.5 1,944 1,404 1,404 10{ 7hv2 M
LEY 2.7 TA)H 2.7 10,584 9,720 9,180 17 115
INLUVT 4.0 TA)H 4.0 8,856 6,804 3,240 17 88
L7y 0.5 TA)H 0.3 6,696 — 6,588 15 48
HHE 25 G 2.0 - 2,700 — 10l vay L
YATE 10.7
PEPE=IY 2.1 5 & 2.1 6,696 6,048 6,048 10 MA 46
AL 8.1 5 & 8.1 4,104 — 3,888 10[ A 40
UhH 0.4 BRE 0.4 540 518 486 04 A L
W5 5.1 BERE 3.1 432 324 302 025 A LL
AOVE 6.4
7—ILA 1.2 BRE 1.2 3,888 — 3,672 4| 7hya 3L
AHI 0.1 =l 0.1 - 3,240 — 5] A 4L
FDAO 49 ERE 3.6 5,184 5,184 1,080 gl vay 3L
F UL 8.6
FLAH 7.1 EES 6.2 6,264 — 5,940 15] A L
CEETLVH 1.5 BRE 1.2 — 4752 — 0] A 4
INFF 25.8 EYEY 255 3,996 2,970 2,722 15
NAFyFTIL 3.8 EYEY 3.8 2,376 — 2,268 10
FoA42)LY 0.9 ZDME 0.2 9,936 — 9,720 10
RERET 77.9




